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. CaCoO, ?
2 NaHCO, KHCO, “«c”
( CaCo, .
) 3 “g” FeS
2
@ @ ©) (NH,) ,50, °
14 ) 50 mL 50 mL 50 mL
m( ) 9.2 ¢ 15.7 ¢ 27.6 ¢ R 0.3 mol
€0 ( ) 2241 3361 336L KCIA0.2 mol K,S0,.0.1 mol ZnSO, 1 L H,0
NaHCO,  KHCO, KCI.K,SO, ZnCL, 1L H,0
° ?
( mol K*. mol
S —_ cl—. mol SO,*~ mol Zn*” mol
( ) c(HC) =__ K,SO,.  mol ZnCl, mol K€ m( K,S0,)
( ) = un(ZnCl) = m(KCl) =
«“ ” NaHCO, KHCO,
° ( “ ")
> xn(K") + xn(Zn’") = X
3 H,S0, H,30, n( CI7) + x n( S0,>)
(NH,) ,S0, . FeS, 80.2%
75.0 t 79.2 t( NH,) ,S0, . .
NH, 92. 6% H, S0, xc(K") + xc(Zn’") = X ¢
89 8% ° HZSO4 ° ( Cl_) + X C( 5042—)
o : @
(1) 4FeS, +110,===2Fe,0, +850, ;@ =
(2) }
(3) 5
(4) . 1.96 g
4 o Ba( OH) ,
_ FeS,~  SO,~ SO,~ H,S0,~ (NH,),S0, ;
75.0 t x80.2% * x * 89.8% 79.2 t 2.33 g )
NH, 9. 6% 0.001 mol KMnO, MnO,
" Mn®" ( 5Fe’" +MnO, +8H'=—=
‘= 5Fe’” +Mn®" +4H,0) .

o

c. 0,. n(S0,7) =___ n(Fe’) =__;
CaCo, co, co Co, . SN =
Ca( OH) , « ”
T caco, n( H,0) =
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n( NH, ") .n( Fe’") .n(S0,*7) .n( H,0) x mol y mol S0;~
° 26g
N " x=__ \y=__ c(Fe(80,);) =
6 «¢( CuSO,) = o
95 g 3 4.53 ¢
300 g AL( NH,),(S0,), * 24H,0
( ) o 906 0.51 g AL O, o
A.NaCl B.AICl, C.KCl D.CaCl, 1 o
1300 ¢ AgCl n(Cl) = 400°C, R
300g 3
143.5 g/mol =2.09 mol 95 g MgCl, ~n(Cl) =
95g B
95 o/mol o/ mol x2 =2 mol <2.09 mol
35.5x2
( VML s s T
: NaCl. AICI, . KCI. CaCl,
1
1 7.75 g ( NH, n( )=
HSO,) n(H,0) = m(H,0) =___;
1.87 ¢ 400°C gl <
_ 9 n(H,0) =
. 4 4 ¢
A 2.24 L( )
( NH,) ,S0, + NaOH =—= ( )
A ]
NH, HSO, +2NaOH Na,S0, + NH, T +2H,0 A. B.
: > C. D.
x mol  y mol
2.24 L H, N
— o H “2Na ~ H,
: X=_ NY=_ n( NH,) , 4g 4g,
S0,: n( NH,HSO,) = o
2 2 L Fe,(SO,), CuSO, «
¢(SO;7) =0.25 mol /L, 30¢g 7 “
N N N 26 g o — .
Fe,(S0,), CuSO, o “ 7
. ; n(S0;7) = .
S0;~ ( “ 7
) Fe,(SO,), CuSO, ( 12016 - 10 -21)



